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Q.1 The ability of a material to resist deterioration over long periods of time is called:
Ans & A durability

X B. elasticity

X C. compressibility

2 D. ductility

Question ID : 97675534436
Status : Marked For Review
Chosen Option: A

Q2 The unit of transmissibility coefficient is
Ans X A m/sec

¥ 8 m?/sec

Xcm

XD m/sec?

Question ID : 97675534507
Status : Answered
Chosen Option: B
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Q3 ww gwd FEw FEA () F WX uew A9 € e e Reet F g v §) e T @ o
T O TSR F T FH gl
Ans X A
T3 TR, HaT 3 T, 3 3R &H, JUR &R
« B.
ST HYU T, I HYR TR, HUR TR AR T8 TR
X C.
HTUIR TR, T8 TR, H&T 7T T 3R 3 3R T
X D
e HTUR T (TET), HET 3T T, T56 T AT HOR 77
Question ID : 97675534515
Status : Answered
Chosen Option: B
Q.4 The effective length of a prismatic compression members in which translation and rotation is restrained at both end is
given by (L= unsupported length of the compression member):
Ans o A 0.65L
X B 2.0L
XcC 1.0L
XD 1.2L
Question ID : 97675534451
Status : Answered
Chosen Option: A
Q5 Surge tank is used fo:
Ans X A. smoothen the flow
# B. avoid reversal of flow
X . prevent occurrence of hydraulic jump
« D. relieve pipeline of excessive pressure transients
Question ID : 97675534481
Status : Answered
Chosen Option: D
Q6 TfefEE & ¥ #ia Hates (1f3m AR J@er amm @ a6 & B o sy §2
Ans

A Hded
X B HET
X C. qgrar
X D. F&Y

Question ID : 97675534532
Status : Answered
Chosen Option: C
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Q.7 Ifbuilding works is estimated by calculating the overall perimeter of the building and subtracting from this four times
the thickness of the wall to obtain the centre line length, then this method is called:

Ans & A Crossing method

X B. Centre line method
X ¢. Long wall and short wall method

& D. Individual wall method

Question ID : 97675534550
Status : Marked For Review
Chosen Option: B

Q8 o st #, 5w v O 3G @ 3 U O Tt #F T @, AF AEEF ws () H v Fa
(Lo) & &7 1 Faer 2 g 27

Ans i
XA L, = =
X8 L,=1
l
vel,=—
V2
[
X0 L,=—=
22
Question ID : 97675534466
Status : Marked For Review
Chosen Option: C
S—
Q.9 The actions due to self-weight of structural and non-structural components, fittings, ancillaries and fixed equipment are
called:

Ans XA variable actions
& B. accidental actions

+ C. permanent actions

# D. non-permanent actions

Question ID : 97675534439
Status : Marked For Review
Chosen Option: C
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Q10 myms (FEwfEm) & #1 3w smfice Ja F Alsg F g2 & T T = #

" vn Fee 3R FEgEd a9
x e 3o fufea 3w
xc mia el s
XD & AR

Question ID : 97675534492
Status : Answered
Chosen Option: A

Q11 gy & 3R = e F 9o @ 99w & B Bl § § #i9 @ Rufy oot @9 oo

AnS X A ofyomsr FET o @ weaT B

 B.
gfyora, mur =5 & Aew RAEE F ofiaw g =fe
X C.

afYoms, 3R =isE F v fAEE F ofieT g aifke
X 0. gfyomaY, 3R =lEs F 9= # g ofge

Question ID : 97675534458
Status : Answered
Chosen Option: C

Q.12 The frame work for door and windows is fixed to masonry wall providing horns of length.
Ans XA 12 cm

X B. 10 cm

X C 20cm

« D 15cm

Question ID : 97675534552
Status : Marked For Review
Chosen Option: A



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q13 5y foig #1 F wed § o &Y A & HelAA O UHgEY H wed §2
" xaTm R

ve Fuy fig

x c. gfaeoes fig

o gte fig

Question ID : 97675534526
Status : Marked For Review
Chosen Option: C

Q.14 i % sire s (FORET) & o, aeh o ek = o @ wfm = e R
Ans @A 0.6

X8 0.9

Xc 0.75

X0 0.7

Question ID : 97675534567
Status : Marked For Review
Chosen Option: C

U Rt & S g F IR W a7 A

Ans

XA ZA & ThR
X o T #r o
Xc.waﬁ-;ﬂg@
v 0 Fll9T geled

Question ID : 97675534518
Status : Marked For Review
Chosen Option: D

Q16 reh-fagy (RATAh) Y U A W ORI a @ B
e KA 8 x 104 N/mm2 & 40 x 104 Nimm?2

vB 7 x 104 N'mm?2 & 42 x 10% N/mm?

Xc 7 x 104 N/mm? & 45 x 104 N/mm?

XD 10 x 107 N/mm?2 & 42 x 10% N/mm?

Question ID : 97675534430
Status : Answered
Chosen Option: B
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Q17" Bituminous surface dressing is provided to:

Ans X A
a newly constructed water bound macadam pavement to serve as load bearing coat

X B. a newly constructed pavement to serve as thin wearing coat

& C.
an existing water bound macadam pavement to serve as load bearing coat

« D. an existing pavement to serve as thin wearing coat

Question ID : 97675534517
Status : Marked For Review
Chosen Option: B

Q18 =y yaites WY (T diedie wae) # O # Higg o A EERT T AT e g

Ans A EﬁIEWIQﬂ'ﬂFI'EIﬁTﬂT
X B WSS 9iehaT
< C I Jiehar
X 0. frrges gfwar

Question ID : 97675534494
Status : Answered
Chosen Option: C

Q19 oy (FEwRpTe) S o A AT g () ae @M T g
" oo o T B AR

X frar o Rufa &

Xc 9 TRE | el

X 0. JTIT eIl
Question ID : 97675534477
Status : Marked For Review
Chosen Option: C
Q.20 Shearing stress in the beam is caused due to variation of along the span.

Ans X A weight of steel
+ B. bending moment
X C. both shear force and bending moment

& D. shear force

Question ID : 97675534558
Status : Marked For Review
Chosen Option: C
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Q21 ym$rw (1S) 456-2000 3 HFER FTH & T syaAaH ATFAT Fav = §?

Ans XA 35 mm
< B 60 mm
X C 45 mm
+ 0. 50 mm

Question ID : 97675534569
Status : Marked For Review
Chosen Option: D

Q22 gFgzg fyswr (Ur) 3 esnr @uas (Uv) F siaea siwa Soa= @ (U) Far geim
Ans oA (U-1) = (Ur-1)(Uv-1)

X8 U=Ur+ Uy

v o (1-U) = (1-Un(1-Uv)

XD U=Urx Uy

Question ID : 97675534503
Status : Answered
Chosen Option: C

Q23 quigar FETER Foi F TEEAE SviEE | @ AREaE RES g Fw e
Ans XA 0.36

X8 045

v C 0.91

XD 0.85

Question ID : 97675534499
Status : Marked For Review
Chosen Option: C

Q.24 The cross-sections that can develop plastic hinges and have rotation capacity required for failure of the structure by
formation of plastic mechanism are called:

Ans & A plastic sections

& B. slender sections

& C. semi-compact sections

X D. compact sections

Question ID : 97675534438
Status : Answered
Chosen Option: C
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Q25 A is meant for transferring a vehicle from one track to another track and vice versa.

Ans % A diamond crossing

+ B. scissor’s crossover
X ¢. gauntleted track

X D. crossing line

Question ID : 97675534522
Status : Marked For Review
Chosen Option: B

Q26 The Le-Chatelier Method is used to perform of the cement.
Ans A consistency test

+ B. soundness test
X C. fineness test
& D. initial and final setting test

Question ID : 97675534423
Status : Answered
Chosen Option: B

Q.27 The stiffener that is provided to improve the buckling strength of a slender web due to shearis ealled:
Ans X A load carrying stiffener

« B Intermediate transverse web stiffener

X C. torsion stiffener

& D. tension stiffener

Question ID : 97675534443
Status : Marked For Review
Chosen Option: B

Q.28 The upward seepage of the soils leads to the resultant seepage force on the soil.

What is the effect of the upward seepage of the soils on the resultant seepage force on the soil?

Ans X A It makes the resultant seepage force infinity
« B. It decreases the resultant seepage force
& c. It has no effect on the resultant seepage force

X D. It increases the resultant seepage force

Question ID : 97675534511
Status : Marked For Review
Chosen Option: B
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Q.29 1n rail tracking, the screw spikes with a diameter of 20 mm are called:
Ans X A tie screws

« B. plate screws

X c. plastic screws

X D. rail screws

Question ID : 97675534519
Status : Marked For Review
Chosen Option: A

Q30 wWhich type of railway station is important as a stop-over for trains?

Ans XA Terminal station

X B. Crossing station

& C. Junction station
« D. Flag station

Question ID : 97675534523
Status : Marked For Review
Chosen Option: D

_— = ==
Q.31 Ina simple curve. the end of the curve where alignment changes from curve to tangent is called:

Ans X A locus of curve
« B. point of tangency
X C. transition curve

# D. point of curve

Question ID : 97675534542
Status : Answered
Chosen Option: C

Q32 The axis about which the product of inertia is zero is called:
Ans & A principal axis

X B. complimentary axis

X C. parallel axis

X D. perpendicular axis

Question ID : 97675534462
Status : Answered
Chosen Option : A
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Q33 gmm =mE Fr TF FE H A B A F FEET FAA W HRHT FeAT FAT AL
(e &, 55 a=1a = 1N/m, p = 1000 Kg/m3, g=10)

Ans XA 1 cm
X B 0.1cm
XC1m
+ D0 0.1m

Question ID : 97675534483
Status : Answered
Chosen Option : B

Q.34

are generally synthetic polymeric materials and consist of either woven or nonwoven fabrics. They are generally
used for separation. drainage, filtration and reinforcement.

Ans X A Geogrid
+ B. Geotextiles

& C. Geomembrane

X D. Geo-composites

Question ID : 97675534435
Status : Marked For Review
Chosen Option: C

% o T SETELOT T
Ans x A P‘ﬁﬁ?ﬁ
v B FOETAT A

X C. TRIHIEY el
X 0. H-FTAT T

Question ID : 97675534476
Status : Answered
Chosen Option : B

Q36 s ¥ g7, vF FoEIA I w1 AT w09 F wEew 075 @ Fa s B fr wma o wed
3.8 m @ = &, o I o sfow T g

Ans X A 20cm
X B 31cm
< C 30mm
+ D 30cm

Question ID : 97675534504
Status : Answered
Chosen Option: D
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Q.37 Ifd is the effective depth of the section under consideration, the maximum spacing of shear reinforcements for vertical
stirrups is restricted to:

Ans @A 0.75d
XB 0.55d
XC 0.65d
XD 0.85d

Question ID : 97675534559
Status : Marked For Review
Chosen Option: D

Q.38 What is the effect of negative skin friction on the load carrying capacity of pile foundations?

Ans X A It has no effect on the load carrying capacity
& B. It makes the load carrying capacity zero
K c. It increases the load carrying capacity

« D. It decreases the load carrying capacity

Question ID : 97675534509
Status : Answered
Chosen Option: D

Q.39 iy 28 et & dW=A =@wE 9fFT (i) 25 Nimm? § 3 ae Reaes 5.3 Nmm? §, & aifea
PO TiEa afed & T seT Ay afsT F4r gE?

XA 40.50 N/mm?2
X8 38.80 N/mm?
X ¢ 30.12 N/mm?2
¥ 0 33.75 N/mm?2

Ans

Question ID : 97675534427
Status : Answered
Chosen Option: B

Q40 430 m 7, 2 m =E FT 0.5 m T TAG F v Fw (Forw) # swE & Tw &g w5 & A7 F7==w
grefre?

A XA 4125 m3
X8 4.800 m>
¥ 4300 m3
X0 4600 m3

Question ID : 97675534549
Status : Answered
Chosen Option: C
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Q.41

Ans

S A gREsae HE d )

XA 150 I
V520 & 40 9§
XC 40 ¥ 60 ¥
X0 100 I¥

F v BeEa #ir FEr §

Question ID : 97675534486
Status : Marked For Review
Chosen Option: B

Q.42 The evolution of gases such as CH,, CO,, HyS occurs in which of the following zones of pollution?

Ans

/A A Zone of clearer water

X B. Zone of Recovery

« C. Zone of active decomposition

X D. Zone of degradation

Question ID : 97675534491
Status : Marked For Review
Chosen Option : D

Q43 Fregisr ¥ affearss (NO, NO,, NOg) 3k wifesass

X wmen gfadoe dil grufae g gese

X e g Jruffis g 9euE

v o FwA: grafEE AR AT A g

X 0. AT EfadaE A Hguh

¥ BETEIT 2

Question ID : 97675534493
Status : Answered
Chosen Option: D

Q44 ffefem & & #i9 T 69w @ =43 (1S) 7 FeE (@, wiEe) F o9 gue (Fhe

Ans

$2wm) AR Ao g & W e w87
XA 1S: 383-1970

X B |S 2386 #19T-11-1963
X C 1S: 2386 #1=1-111-1963
D |5 2386 #ATIT-1-1963

Question ID : 97675534424
Status : Answered
Chosen Option: B



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.45 If both the permeable and impermeable voids are excluded to determine the true volume of solids, the specific gravity is
called:

Ans o A absolute specific gravity
X B. mass specific gravity

X C. specific gravity

# D. mass gravity

Question ID : 97675534421
Status : Marked For Review
Chosen Option: B

Q.46 forfreror, wiveror, WS 3R 3T F T T F IR § TH 7F T o A F G0 & WK F
H@or . WA RS a1 vateT FHhe (RCC) e #r T AT 2

e T R (e Afde)
X & IvE TgT
X ¢ FEE AR (F H13CH)
v 0 g

Question ID : 97675534490
Status : Answered
Chosen Option: D

Q.47 The rocks that are of volcanic origin and formed as a result of solidification of molten mass lying below or above the
earth’s surface are called:

Ans & A igneous rocks
X B. metamorphic rocks
X C. sedimentary rocks
X D. foliated rocks

Question ID : 97675534422
Status : Answered
Chosen Option : A

Q48 The spot test in bitumen is used to detect:;
Ans X A grade of bitumen
X B. temperature

& C. solvents
« D cracked bitumen

Question ID : 97675534514
Status : Answered
Chosen Option: A
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Q49 When contours of different elevations cross each other, it indicates:
Ans

« A overhanging cliff
X B. vertical cliff

X C cliff

X D. saddle

Question ID : 97675534537
Status : Answered
Chosen Option: A

Q.50 ofy v fader gofes (39 AFF) =T AT I 100 m, FeaEarsT 1.200 m 3T Har=es" 1.570 m
¥ @ 39 e @ A Ao grem)

Ans XA 102770 m
X8 101.370 m
X C 101.200 m
+ 0. 99.630 m

Question ID : 97675534536
Status : Answered
Chosen Option: D

Q51 Which of the following metals is extracted from chalcopyrite ore?

Ans

X A. Magnesium
X B. Iron
« C. Copper

A D Aluminium

Question ID : 97675534429
Status : Answered
Chosen Option : A
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Q.52 mFa oR W e g 7K (W) F 370, L 765 & T 99 RS (@) 97 F 799 8y () W

TEUTET T gAY

(E 1 A AN | FgeT et )
Ans orif, :I;V_g

s 0y M0

S

o 0, - 2L

Question ID : 97675534457
Status : Answered
Chosen Option: C

Q.53 6 yarg Afeeat (Ny) 3t 30 FafEE 915 (N) T =8 =i (T @) & @, e o
__ gmm
Ans XA 025
+ B 0.20
Xc 50
XD 20

Question ID : 97675534502
Status : Answered
Chosen Option: A

54 Yo & s & @ 5w IR $ FaUTar (AfETe) F 39T F4 BRar v 37
AN oA IET SEoTaT

Question ID : 97675534520
Status : Answered
Chosen Option : B
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Q.55 =f¥ N=10 rpm 3i% grar==ar H=1m & 1y af¥T P = 100 kW ¥, @ =xamea &1 2fire ome 77 @92
Ans XA

~ 8. 1,000

+ ¢ 100

X010

Question ID : 97675534482
Status : Answered
Chosen Option: C

Q.56 The footing is used when the two columns carry equal loads.
Ans XA raft

X B. trapezoidal
X c. strap

« D. rectangular

Question ID : 97675534562
Status : Answered
Chosen Option: C

Q.57 zmifE dR= ¥ ymfEE e = aE I
[tog: FE=T & T #7120 °C W & e oome & & 7=+ 79 7 5T @9 § oo awr

g, (GF )

Ans
XA S =100[1— 0.630%20]
X8 S =100[1 — 0.543%20]
v S=100[1 =D.794%0]
*x0. S =100[1 — 0.116%20]
Question ID : 97675534498
Status : Answered
Chosen Option : A
Q58 gz (T S Ae) ¥ AT TufaT e F 2T =nfeT

e XA A feeiss N & 3aRfEa J e
X & JfFT TRRe N &7 3= 719
X c. AT s N &1 =5 off
v 0 #@fFe s N & @Fes |

Question ID : 97675534489
Status : Answered
Chosen Option: D
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Q.59 The inward tilt or transverse inclination provided to the cross-section of a carriage way at horizontal curved portions of
aroad to reduce the centrifugal force on a moving vehicle is called:

Ans X A sub grade
X B. per mix carpet
« C. super elevation

A D. camber

Question ID : 97675534555
Status : Answered
Chosen Option: D

Q.60 Rfire speear (G) = 2.68 1 B & RIC Fr@ FFeT 817 50 Y F TR FHAT 180.4 TH Toi
& g &1 S # S f T (e &) Fm e

Ans KA 13.9
X B 136
Xc 139
D 13.46

Question ID : 97675534500
Status : Answered
Chosen Option: C

Q61 The cement used for grouting operations in large structure is:
Ans X A Low Heat Cement

X B. Super Sulphated Cement

X C. Portland Pozzolana Cement

+ D. Quick Setting Cement

Question ID : 97675534570
Status : Answered
Chosen Option : A

=

Q.62 What is the minimum period before striking formwork for props to slab spanning upto 4.5 m as per IS 456-2000?

Ans X A 14 days
« B. 7 days
X C. 3 days
# D. 28 days

Question ID : 97675534560
Status : Answered
Chosen Option: A
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Q.63 When a structure is designed by working stress method, the maximum stress that is permitted to be experienced in
elements, members or structures under nominal loading is called:

Ans X A tensile stress
X B. compressive stress

« C. permissible stress

& D. circumferential stress

Question ID : 97675534437
Status : Answered
Chosen Option: C

Q.64 demTER FHhe AFAT F B, gEETRTer § FHe 1 EiET e w1 F B gy § guaa w1 ah5T
= $r FEm I & A& Een B

e KA 20 wfy wa
x5 25 gfF &
X c 10 9fd |
v 0 30 gfT =

Question ID : 97675534533
Status : Answered
Chosen Option: C

Q.65 An element that is used to retain or prevent the out-of-plane deformations of plates is called:
Ans X A strut

X B. splices

+ C. stiffener

X D. base plate

Question ID : 97675534446
Status : Answered
Chosen Option: C

Q.66 The ratio of shear stress to the corresponding shear strain within elastic limit is called:
Ans o A shear modulus

X 8. modulus of elasticity

X C. bulk modulus
X D. Poisson’s ratio

Question ID : 97675534452
Status : Answered
Chosen Option: A
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Q.67 |3 456 - 2000 3R =g 9.2.4.2 F 3FAR, M 20 FX F Fhe F v whga A== e
S {

Ans XA BB
X8 3.5
XC 45
0. 40

Question ID : 97675534566
Status : Answered
Chosen Option: D

Q.68 A masonry or reinforced concrete wall that constitutes the end support of bridges or similar structures by which it joins
the bank of waterway is called:

Ans X A wing wall
& B. curtain wall
« C. abutment

X D. pier

Question ID: 97675534554
Status : Marked For Review
Chosen Option: C

Q.69 A pair of tongue and stock rails with the necessary connections and fittings forms a

Ans X A turnout

X B. creep adjuster
X C. crossing

« D. switch

Question ID : 97675534521
Status : Marked For Review
Chosen Option: D

Q.70 In which method the plinth area should be calculated by considering the external dimension of the building at the
plinth?

Ans X A Supplementary estimate method
+ B. Plinth area estimate
X C. Revised estimate method
X D. Cube rate estimate

Question ID : 97675534551
Status : Answered
Chosen Option : B



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q71 The height of instrument (HI) in levelling is computed using the equation:
Ans X A HI = Fore sight + Back sight

+ B. HI= Back sight + elevation of Bench mark

X C. HI = Fore sight + Elevation of Bench mark

X D. HI = Elevation of Bench Mark + (back sight — Fore sight)

Question ID : 97675534534
Status : Answered
Chosen Option: D

Q.72 At asite, the cohesive fill needs to be compacted by mechanical means. Which rollers are suitable for this work?

Ans & A Sheep-foot rollers
X B. Tamping
A C. Smooth wheeled rollers
X D. Vibratory Compactors

Question ID : 97675534506
Status : Answered
Chosen Option: A

Q.73 we =TS wUTe (@R, ) H EE &V, ¢ i, HT m HEn Areg a9, w9 e, 9wy & ot
TS FEE F grEreaaT & N s (FEEiiee) AT MEws &1 =S g7 4T geme

Ans e
KAV =cfmr'

B Y =enfmi
K C p=cifnti
XD p =2 fmti

Question ID : 97675534472
Status : Marked For Review
Chosen Option : A

74 grafm (Fedrdede) 3w & e oy FRerd) ArteE @ d
A XA 45 m 9fE o=

vB 35 m 9Tg o

Xc 55 mufa o=

XD 65 m 9T o=

Question ID : 97675534512
Status : Marked For Review
Chosen Option: C
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Q75 The amount of overlapping between two bars is called:
Ans % A hook length

+ B. lap length

X C. gap length

X D. extension length

Question ID : 97675534563
Status : Marked For Review
Chosen Option: B

Q.76 A composite material made up of cement concrete and reinforcement in which the concrete resists compression with
reinforcement resisting the tension and shear is called:

Ans X A prestressed concrete

« B. reinforced cement concrete

X C. polymer concrete

& D. fibre reinforced concrete

Question ID : 97675534434
Status : Answered
Chosen Option : B

Q77 Ffie % e 9gFT T TR TSI § AT MR H s g B
At XA 0.8 & 0.95x 105 /oC

X809 ¥ 12x100/C

Xc 12 1.3 x 109 °C

v0 0.6 & 09 x 102/ C

Question ID : 97675534557
Status : Marked For Review
Chosen Option: A

Q.78 Some materials posses the unique property of nndergoing large deformations under load and returning to their original
shape and dimension on its removal. Such materials are called:

Ans o A elastic
X B. fiber
X c. plastic

X D. rubber

Question ID : 97675534431
Status : Answered
Chosen Option: A
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Q.79 A retaining wall built parallel to the centre line of a road to retain the embankment is:
Ans X A pier
+ B. return wall

& C. gurtain wall

& D. retaining wall

Question ID : 97675534553
Status : Answered
Chosen Option: D

Q.80 =3 fag =t Far Fat &, TET G YT AT REA UAHF F HUTHF AT FUNHAS & GRS
TRETIT F & TE T & ST 32

SN Afe aREa= &g

XB.Eiﬁﬁ'g
xc.BTrEl{Pﬁ'ﬁg

Question ID : 97675534465
Status : Answered
Chosen Option : A

.81 . . y 2
%81 The ST unit meters?/second (i.e., m2/s) is used to measure:

Ans X A specific gravity of fluid
X B. dynamic viscosity of fluid
« C. kinematic viscosity of fluid

X D. specific weight of fluid

Question ID : 97675534468
Status : Answered
Chosen Option: B
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Q.82 If t = maximum shear stress induced at the outer surface and D = diameter of the shaft, then the maximum torque (T)
transmitted by circular solid shaft is:

Ans x A T=r;—rD3
et e
« B. T—IIED
xc T=1=D3

12
x0 T=1=D3

24

Question ID : 97675534459
Status : Answered
Chosen Option: B

Q.83 1n levelling, the distance between point of instrument position and the staff position (D) is in kilometres, then the
correction for refraction (in m) is equal to:

Ans X A 0.0785*D2
¥ B 0.01121 * D?
X ¢ 0.0012*D?
X 0. 0.00785*D?

Question ID : 97675534543
Status : Answered
Chosen Option: C

_—m T =
Q.84 zerr firwr woamAT 99 (S99 TR N U9) & aia das Gear (e B 2l
(A: Frees &1 argaey F1e e, N #e &1 a1fa (pm ) A Lo amema (e, et #)

Ans AT N
oA 2ALN
60
X B. BALN
a0
X C. 4AILN
a0
X D. ALN
al

Question ID : 97675534478
Status : Answered
Chosen Option : A
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Q.85 In which method the sum total length of centre lines of walls. long and short walls has to be found out?

Ans o A. Centre line method
X B. Simpson's method

X C. Separate wall method

X D. Long wall-short wall method

Question ID : 97675534548
Status : Answered
Chosen Option: D

Q.86 If P=present population, I=average increase per decade, r=average incremental increase, n=no. of decades, then the
mathematical expression given below is for which of the following population forecasting methods:

Pn=P+M+n(nT+l)r

Ans X A Logistic method
& B. Geometrical increase method

X C. Arithmetical increase method
« D. Incremental increase method

Question ID : 97675534496
Status : Answered
Chosen Option: C

Q.87 & o= forww &1 205 °C W 7 FFr 7w & A T AN THS B A ¥ AR e & e &
BTH F FUUT s Afiee aveT T 5T W 2 e

Ans @A 2.3:2.95
Ko 23-27
X c. =205
XD 23:3

Question ID : 97675534433
Status : Answered
Chosen Option : A

Q.88 The minimum edge and end distance from the centre of any hole to the nearest edge of a plate shall not be less than
times the hole diameter in case of sheared or hand-flame cut edges.

Ans A 1.7
XB 12
XC 15
< D.

Question ID : 97675534450
Status : Answered
Chosen Option : A
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Q.89 zfx Md = 9fi=iT & 3fieeT oo T &, o el ot & o amw (@) F O o of=ee
R Wi HfEFeT HEOT M FT geEm?

Ans A M < Md
xXB M < 2Md
XcM< 3 Md
XooM < 0.5 Md

Question ID : 97675534441
Status : Answered
Chosen Option : B

Q.90 The ratio of the effective length of a member to the radius of gyration of the cross-section about the axis under
consideration is called:

Ans X A. Poisson’s ratio
X B. effective length

+ C. slenderness ratio
X D. bulk modulus

Question ID : 97675534445
Status : Answered
Chosen Option: C

Q91 gafa e (RCC) Tmmmsil & Borea &, g aei T 0 _ & 78R &1 S A
Ans XA IS 875

X B IS 456

«C IS 1893

XD IS 800

Question ID : 97675534561
Status : Answered
Chosen Option: C

Q.92 When the drainage is permitted only during the isotropic compression stage in finding shear strength of soil, the test is
called

Ans X A Quick test
X B. Unconsolidated-Undrained (UU) test
X c. Consolidated-Drained (CD) test
« D. Consolidated -Undrained (CU) test

Question ID : 97675534505
Status : Answered
Chosen Option: C
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Q.93 The ratio of change in volume to the original volume of a body when the body is subjected to a single force or a system
of forces is called:

Ans X A Poisson's ratio
« B volumetric strain
& C. lateral strain

X D. longitudinal strain

Question ID : 97675534454
Status : Answered
Chosen Option: B

T T T

Ans X A
S-g-5 o G Hr oars
X B.
SA-Z-3 oY SN W TS
X C.
§H-C-8 O AN #T oETS = &y W Fg P o6ls + T =i

o D.
$-3-31 oY EEN (ATE Aler) FT FETS = &E Wy H A& - TF S

T T Fg Fr A9 - M e

FF W Fg Hr wag + Aed JeE

Question ID : 97675534547
Status : Marked For Review
Chosen Option: B
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% R e Reedt F @ T o g A wfder @ gafer ¥

Ans

K C
X D
Question ID : 97675534525
Status : Marked For Review
Chosen Option: A
.96 :
% o feFara Tmen, figat § o= W@ A FaT AT B

A XA mEefe @
X 5. JTSHECCSdS I@T
X ¢ FRfFIEr @ (FEEE T )
v b HiEAT W@ (T oEa)

Question ID : 97675534540
Status : Answered
Chosen Option: D
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Q97 afy o = g5 = T56 daT HN d = §g T AW &, A T H g & HeX @ (P) FT gE?

Ans 16
XA p=—
d
pifog
X B. rp=—
d
A
d
do
d
Question ID : 97675534470
Status : Marked For Review
Chosen Option: B
Q.98

Question ID : 97675534539
Status : Marked For Review
Chosen Option: D

Q.99 s A (IS) 456-2000 % HFER, M20 #ifE & e & e s s (defe: #ée fem - A

emam) =7 €2

Ans X Aq £ 4
KB NG B
«vC1:15:3
Xb1:1:2

Question ID : 97675534426
Status : Answered
Chosen Option: C
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Q.100 ofte a1 TEToT (ST FiE ewe) #, Fw s|or (AfE) & faar 180kN/m? @ ¥, & ves 30 cm
FMFR oI FHAAEE JaT T 8 mm A9 9o = §1 T8 10T 99ar | 1.6 m e Fr o
= =1 AueT mm g

Ans XA 722
X8 272
v C 2277
XD 727

Question ID : 97675534501
Status : Answered
Chosen Option : B

Q.101 20 m #r sf@em (37) ¥ A 7 TF EA F TS 400 m T TS| 7Y @ 20 cm 3F = 4 A
Y@T i AEAEF TS B AT FE?

Ans XA 401 m
5 404 m
XC 402 m
XD 403 m

Question ID : 97675534531
Status : Answered
Chosen Option: B

Q.102 |5 456 - 2000 F ¥JER, TAF F T # FRE FE F BT T T T F TAF T H FY T
e FRw e e TR A E 7% e o fasor Shet S sl A

Ans XA 650 mm
X B. 400 mm
+ C 600 mm
X 0. 500 mm

Question ID : 97675534565
Status : Answered
Chosen Option: C

Q103 ez B 3l FEfrw X 367 ¥ H S areh v ot oftsr w1 w=cy amget e dem?
e KA HBY36

v & BHY/36

X ¢ HBY12

X0 BHY12

Question ID : 97675534455
Status : Answered
Chosen Option: A
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V1 gt AR smEdE & T dgEa T &

Ans X A ATCHS
X e A

Question ID : 97675534535
Status : Answered
Chosen Option: C

Q.105 zfy T = mmeq FemEdT (N-m &) 3T N = dvz #7 ofy B oo &, o dve oo afta afEs=(P)
=W (Watts) # = 2et?

Ans wh poNT
a0

XB Pe 2aNT
120

X P 2aNT
x D. P= aNT

Question ID : 97675534461
Status : Answered
Chosen Option: D

Q.106 |3 4954-1968 % 3TOR Hafl, WAET AR HETAT & Be TS ¢ (F79=R) T TR 7 §?

Ans X A 50-55 dB
X5 2530 dB
v ¢ 35-40 dB
X0 40-45 dB

Question ID : 97675534487
Status : Answered
Chosen Option: C
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VY St § O #iF @ Y9 gy a=r 87
Ans @A 1cm=40 m

xB.1 : 50000

Xc 1 ecm =50 km

X0 RF = —
300000

Question ID : 97675534530
Status : Answered
Chosen Option : A

Q108 zfx A, = 39woT &FFA HR fy,, = FeT (I8) F W ATT §, T IO F AT FHET
RITATEY HTRT0T TR (V,) FT gem?

Ans ™ I{D:%
e 7, = Aol
-

A
<N

Question ID : 97675534442
Status : Answered
Chosen Option: A

Q109 5 m &, 4 m 5= 3 20 em A R F BT HT2aF §T B (7% a9) F AT F FgAS

Eond|

A KA 36 m3
X8 4.6 m3
XC 5 md
¥D 4 m3

Question ID : 97675534546
Status : Answered
Chosen Option : D
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Q.110 A channel with constant bed slope and same cross-section along its length is called:

Ans X A. natural channel
& B. closed channel

« C. prismatic channel

Z D. underground channel

Question ID : 97675534473
Status : Answered
Chosen Option: C

Q.111 In order to account for shear deformation effects, the effective slenderness ratio of laced columns shall be taken as ------
time(s) the actual maximum slenderness ratio.

Ans A5
+ B 1.05
XcC 1
XD 1.10

Question ID : 97675534447
Status : Answered
Chosen Option: B

V1 gaftre () smEEk w0 RFEfee wee e s 2

XA ST T T W THE 5N OF o J4 % oY

X B FHFPIC B TR F =T TR IF o I & A0

v o FHHE B HER ¥ e TR 9% o 9= & v

X D.

wmﬁmmammamaﬁv

Question ID : 97675534444
Status : Answered
Chosen Option: C

QJB?ETWE#EFTSFT & AIHAA W T & Tl 9Iod g §
Ans X A 850 °C

X B.1100 °C

X C 1000 C

« D. 800 °C

Question ID : 97675534425
Status : Answered
Chosen Option: A
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Q.114 In a shear force and bending moment diagram, the bending moment changes suddenly at the section but shear force
remains unaltered for a beam subject to:

Ans X A point load

« B. uniformly varying load

X C. uniformly distributed load
« D. couple

Question ID : 97675534467
Status : Answered
Chosen Option: D

Q.115 mﬁﬁﬁﬁam(ﬁﬁﬁﬁaﬁﬁﬁaaﬂﬁ?ﬁﬁ?mmmm#m#w
T gl ST £

M XA amIEE T (St i)
v b HIUH Y
X C g e
X 0. ASTH-FEASIT 3T

Question ID : 97675534495
Status : Answered
Chosen Option : A

Q.116 Intension members, the distance between the centers of two adjacent fasteners (pitch) in a line lying in the direction of
stress shall not exceed:

Ans XA 20t or 200 mm whichever is less
« B 16t or 200 mm whichever is less
/A C. 251 or 200 mm whichever is less

A D. 20t or 100 mm whichever is less

Question ID : 97675534449
Status : Answered
Chosen Option : B

YV e v ofEr el Tder-gEer ¥ et g 32
Mo n 10 T e
x5 15 T Y@
X c B FaT o@em

X 0. 20 FET e

Question ID : 97675534528
Status : Answered
Chosen Option : B
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Q.118 With increase in the speed of vehicle in unit roadway length, the average density

Ans X A becomes infinite
& B. remains constant
+ C. decreases

& D. increases

Question ID : 97675534524
Status : Answered
Chosen Option: D

Q.119 TAEA Apha F AT = (k), FeT 3 (1) AR FEIET-FE SR (A) F 99 F G687
Ans X A Agk =

X8 Ak = |

X c. A2K2= |

0 Ak2 = |

Question ID : 97675534453
Status : Answered
Chosen Option: D

Q120 pejzometer measures only:
Ans A gauge pressure

X B. vacuum pressure
X C. absolute pressure

X D. atmospheric pressure

Question ID : 97675534469
Status : Answered
Chosen Option : A
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Q121 zfy Ay = FTF-FIE F Fohe STF, f,= FHH F R/ Sowd HY ymo= THET g@nT F== F
pear # fOw 3w g U B, & Ted IEtE $ WIT & FRT B9 wed (T,,) F9 gemn?

Ans s ng:%}fw
o C. ng=‘:f—’§’

Question ID : 97675534440
Status : Answered
Chosen Option: D

0122 gewt o afed w9 F FEOT § FF @ ST oheE & 09 g9 §7
Ans fA-;ﬁﬁTﬁﬁrGﬂE

X B Q@R HAE

Xc %e A

X0 T A

Question ID : 97675534516
Status : Answered
Chosen Option: B

Q123 o=l & & 5w & TFA0 a% #, B das & sqeragoer g & 3 o & off s
TR T0T F ufEas @ & U §AT @ 27

e Xa gERUE
v & giad (TSI
X ¢ g Waad

X 0. giammefr (erAfATRe)

Question ID : 97675534513
Status : Answered
Chosen Option: D
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Q.124 A connection to the general mass of earth by means of an earth electrode is called:
Ans & A earthing

X B. priming

X c. plunging

X D. curing

Question ID : 97675534556
Status : Answered
Chosen Option : A

Q.125 The working from whole to the part is done in surveying in order to ensure that:

Ans A mumber of errors is minimum

 B.
errors and mistakes of one portion do not affect the remaining portion

X C. survey work is completed more quickly

X D. plotting is done more quickly

Question ID : 97675534529
Status : Answered
Chosen Option: B

Q126 |5 456-2000 & 3gER, M30 FfE Fhe & T sfbwar smwo sfawe #=r 32

A v n 35 Nimm?2
78 3.7 N/imm?
X C 31 N/mm?
X0 2.8 N/mm?

Question ID : 97675534564
Status : Answered
Chosen Option: B

Q.127 aFrere, et =er 3780 & 3OANE TE A ST S 5 T IORT AT S AT g B
Ans oA TR

X 0. T

« C. FeldA

X o. R

Question ID : 97675534485
Status : Answered
Chosen Option: B
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Q128 For most economical rectangular channel section, hydraulic depth is:
Ans X A one-third the depth of flow

X B. three times depth of flow

« C. half of the depth of flow

X D. twice the depth of flow

Question ID : 97675534479
Status : Answered
Chosen Option: C

VP Crfatea feedt # @ Fia v BEA F @ A8 22

Ans

X A 3IATAF HFae & FROT gliet

X B 9IET F FHET & FROT ZiA
Xc O H 999 8 § gl Jrelr gy
« 0. g¥UT 3 FHROT gy

Question ID : 97675534484
Status : Answered
Chosen Option: D

Q130 H (gareaar, §3) ® At # 1% & 3R o6 wmeeR o @ rm | Gewer Bwmen oy
3t 5791 =

Ans  wp 19,
X8 2.5%
v C 1.9%
X D. 29

Question ID : 97675534480
Status : Answered
Chosen Option: D

Q.131 What is the unit of payments in MKS for earthwork in banking, cutting, in roads and irrigation channels?

Ans XA Per % cu ft.

X B. Per Sq. m
« C Per% cum

X D. 95 ¢cu fi.

Question ID : 97675534545
Status : Answered
Chosen Option: C
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V% gz & et & PVC @ 9ot & F 7

Ans o A
Pigment Volume Concentration (ReET#HE E:IJF-EI,:-FT Fleg )
X B.
Polish Vehicle Concentration (Siferer afgerer Femea=)
xc.
Pigment Vehicle Concentration (Rt 3fgwer Fieaea=)
X D.

Pigment Volume Co-ordination (Rrmde aiegs #I-3fsaze)

Question ID : 97675534432
Status : Answered
Chosen Option: C

Q.133 A real fluid in which shear stress is directly proportional to the rate of shear strain is called:
Ans X A non-Newtonian fluid
X B. ideal plastic fluid

X C. ideal fluid
« D. Wewtonian fluid

Question ID : 97675534471
Status : Answered
Chosen Option : B

Q.134 Bending moment at the centre of the simply supported beam of length (L) when it is subjected to point load (W) at the
centre of the beam is:

Ans X A WL/3
K B WL/2
« C. WL/4
XD WL/6

Question ID : 97675534464
Status : Answered
Chosen Option : B

Q135 The settleable solids are measured by:

Ans 7 A Imhoff cone
& B. Grit chamber
X C. pH meter

X D. Turbidity meter

Question ID : 97675534497
Status : Answered
Chosen Option: A
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Q.136 Cement mortar of fluid consistency used to fill the voids and joints in masonry and to repair the cracks is known as:
Ans A guniting and permeability

X 5 guniting

X C. permeability

« D. grout

Question ID : 97675534428
Status : Answered
Chosen Option: A

Q.137 What percentage of contingencies and work charged establishment cost, respectively, will be added while preparing
detailed estimate?

Ans XA 29 and 5%
X B. 5% and 5%
+ C. 5% and 2%
X D. 1.5% and 2.5%

QuestionID : 97675534544
Status : Answered
Chosen Option: C

_———= == T ==

Q.138 (, goen =T TN T GUR (J), v AT & T AL FE HIFT a & Aie (97, S J 5% T8
TUIT SART JuT i fFem F v fRwy FeATeR el 9 oendAT TR 5 Fy #T 2

Ans

1
KA E = ipavz

X8 F, = 4pav?
« C. FE, = pav?

X 0. F, = 2pav?

Question ID : 97675534475
Status : Answered
Chosen Option: A
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Ans

Q139 §zhyr & Ty F @@ D ¥ UF eAEN INwOE W wwed gt

4
AT - D
e 64

4

XB g = ﬂ

nD*

XC g I e
e — 8

nD*

KD J e =
e 4

g &l

Question ID : 97675534460
Status : Answered
Chosen Option : A

Ans

Q140 The secondary treatment of sewage is caused by:

A bacteria
X B. algae

X C. virus

X D. coagulants

Question ID : 97675534488
Status : Answered
Chosen Option: D

Ans

U T T 3R TRCAREYT g9 & T F IS

¢ A TRI3E EEAT
X 2 T
XCI@T@T
X a7 weT

g gl

Question ID : 97675534474
Status : Answered
Chosen Option: B
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Q142 Which of the following traffic signs is an example of warning sign?

Ans

0

NARROW BRIDGE

NO STOPPING OR STANDING

xc

=

@-L

STRAIGHT FROHIBITED
OR NO ENTRY

Question ID : 97675534527
Status : Answered
Chosen Option: D

Q.143 The total moment of all the forces about neutral axis of the section is called:

Ans X A bulk modulus
& B. moment of inertia

X €. Young's modulus

« D moment of resistance

Question ID : 97675534456
Status : Answered
Chosen Option: B
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Q.144 g=wer Fr o & fow farTma & g9 #, FfT (3ffe) & fY = fFer a6 @ & HAT
ST 2l

v et
X B TS (HTER)
X c. godlehl{
xo g

Question ID : 97675534538
Status : Answered
Chosen Option: B

Q.145 Which of the following Bureau of Indian Standards (IS) recommended a set of procedure for the design of concrete
mix?

Ans o A TS 10262 — 2009
X B. IS 800-2007
XC IS:2212-1991
X D. IS 456 — 2000

Question ID : 97675534448
Status : Answered
Chosen Option : D

Q146 A beam whose both ends are fixed or built in walls is called:

Ans X A cantilever beam

X B. overhanging beam

+ C. Encastre beam

X D. continuous beam

Question ID : 97675534463
Status : Answered
Chosen Option: B
= =
Q.147 ¥t 5% =1 3ier 1 2 &, aF 33 & f=ar gt (T 30 m ef@en & 3uET fEar I 8

Ans XA 5730 m
X8 1,720/m m
«C 1,7189 m
XD 3,400/m m

Question ID : 97675534541
Status : Answered
Chosen Option: C
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Q.148 |5 456-2000 % 3TER, T Fao H HUFTH ATFT T Jw 7 =7 =g
(3r=TT i =g 3T @IS FAw b T D FN)

Ans A 0.04 bD

X B8.0.08 bD

X ¢ 0.03 bD

XD 0.05 bD

Question ID : 97675534568
Status : Answered
Chosen Option : B

Q.149 The allowable soil pressure of a clayey soil is generally controlled by

Ans X A earth pressure

X B. consolidation
« C. bearing capacity

< D. sertlements

Question ID : 97675534508
Status : Answered
Chosen Option: C

10 ggar o yrdifaew wfoee g & ¥ FHROT AT B
Ans xAﬁm

V& T-8R

X C e

X 0. FEA

Question ID : 97675534510
Status : Answered
Chosen Option : B

Section : Ge K arenes
Q.1 wgre el 3 ‘% =R sifes 7 garmafde g g # hRTa & RE fodt
Ans o A RIS Ted Sie

< B. o @M e

X C.aaeH S

25 D. grarwdt dee siet

Question ID : 97675534581
Status : Answered
Chosen Option : A
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Q.2 ¥R & T #, 39 Afh A ‘g FHay ArTerar g sttad § & onflres R ok

Ans

HAT 2l
X A92
X B.61

o C.183
X D.122

Question ID : 97675534579
Status : Answered
Chosen Option: C

Q.3 Fmafafaa 7 @ forast wrar & M wrer 2020 & Anfe, Hure ok P sifRer & Aqa
foram?

Ans

o A @fa diga

< B. arftar S
X C. i3 argaar
& D. A Feell

Question ID : 97675534583
Status : Answered
Chosen Option: B

Q.4 fROmER2020#, fRIE Hig ATa@ FATEa A ______ & f@erw 12,000 3iiens = a=4 arst

Ans

et fhdher a9 @Rt RfewT o R
X A gufids
o B. sifefer
X C. e e
< D.g<is

Question ID : 97675534588
Status : Answered
Chosen Option: D

Q.5 TRER} 2021 T & TR, 'Teh 320, YR IF RIS ST MRA A Il 3R s enfda

Ans

wart & any Y w31
X A.29
X B.36
X cC.23
& D.32

Question ID : 97675534574
Status : Answered
Chosen Option : A
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Q.6 F=faf@a d 9 fora+ el ar $ ifar Foeht oiik 59 ifdaRTial gRT “Ra d T @R
& HRUT IS & JhAH & fOeg =i I faram?

Ans X A HR SRR
& B. RRmer-3e-dle
X C. areftadf @f
o D. afie geft =t

Question ID : 97675534582
Status : Answered
Chosen Option : B

Q.7 22 & I FHCIR T Sl Wy a1 UEH &+ & fg WRd TR gR12018 & &
g aTa ol et

Ans X A. U HAT STl SN FsrT
75 B. U H3ft S FiT
X C. U= "t STel SISt aistT
o D. T HAt SHSTRIY ST

Question ID : 97675534573
Status : Answered
Chosen Option: D

Q.8 fEwrR 2020 #, YV HATEA 3R a1 AT Ud DeAha A = o ufaahft @« & &
# sfto=nRes AT ve &

Ans X A. gocHaRTel
X B. Herdd
K C.agt
& D. A

Question ID : 97675534589
Status : Answered
Chosen Option: B

Q.9 fA=fafEa d @ &9 a1 geun welia U« uoig 7 & 82
Ans o A TTS

#7< B. s=aett
X C.
X D. &t

Question ID : 97675534580
Status : Answered
Chosen Option: A
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Q.10 YR HRUFA &S ______ 4 3r=se WHe & aewl i & a1 iR =it ot Frufeor swear &1
Ans X A.110

X B.114

& C.106

2 D.120

Question ID : 97675534586
Status : Answered
Chosen Option : A

Q.11 awR 2020 & 7] & THY ST TS & e T G doh QaRd gEaHsET 3
Ans X A #fOIQR

o B. oA

X C. By

< D. TS

Question ID : 97675534585
Status : Answered
Chosen Option : C

Q.12 et 2021 #, 3r7et Ef2aT Geare thede  (YEUhu ) 7 WRd afgen fhr 2020-21 =t
# mraifSa fore s hY atwom i

Ans o A Siif3er

X B. 3w
X C. ufgm dmrer
#< D. #fogR

Question ID : 97675534590
Status : Answered
Chosen Option: D

Q.13 et srfafeam 2013 & Heiter A are shost ( dmee) fAdae 2019, Fda
wfse gR1 AT 2020 & srgHifa forar wami

Ans X A d9wr

o B. T
5 C. e
< D. gigat

Question ID : 97675534587
Status : Answered
Chosen Option : A
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Question ID : 97675534584
Status : Answered
Chosen Option: B

Q.15 fA=faf@da d @ &= a1 78, & A v aegra 8§ [RAa 82
Ans X A G

X B. @RI

o C. 2

25 D. g

Question ID : 97675534571
Status : Answered
Chosen Option : A

Q.16 F=faf@a 7 9 fFg 'a1ed ug' &t G &1 Uah Tae e & ST 164 a o1 T9Y o1 82
Ans X A HTE

X B.gy
o C.a&u
X .97

Question ID : 97675534575
Status : Answered
Chosen Option: C

Q.17 &eeh MR T4 & frmR swr ganm g1
Ans X A TieE

< B. sggA

o« C.7e=d

X D. T

Question ID : 97675534578
Status : Answered
Chosen Option: C

Q.18 f=fafEa & @ &iw a1 v+ s 87

Ans X A. gHEIfthferar U STaifes I 81
o B. Ul U HshrAe I 8|
X C. Afa=Tsie, giueie s=tha’ & A1enm § Shetar 81
< D. ApoR 2T Tah Srgafies T R

Question ID : 97675534576
Status : Answered
Chosen Option: B
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Ans X A HEIE
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o C. 3

X D. 3mTg T

Question ID : 97675534572
Status : Marked For Review
Chosen Option: C

Q.20 fF=AfafR@ad d R TTFUTTa2?

Ans X A 4 T fOR1 g3 9131 S &1, Geh UTAEIU shgalrdl 5 |
& B. 9 TR ¥ STt & fORT 3[@UE Uoh UG U hgaran g
X C. I a8 5 § fORT 9[@ve Teh UTIEIY shegeral 81

X D. 5t et gRT faniford, &t wiet &5 ot Ten e Site aref! offH i udel Ugl Ihg heedt
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Question ID : 97675534577
Status : Answered
Chosen Option: B
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Ans
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Question ID : 97675534608

Status : Answered

Chosen Option : B

Q.2 R ee-g Ry Y §, 598 9 i s d wur € ofk ues orer g1 favw 2reg - ot g
]|

Ans X A B dE
o B. YTHIUL: ITd
/X C. g=yen uig
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Question ID : 97675534593

Status : Answered

Chosen Option: B
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Question ID : 97675534597
Status : Answered
Chosen Option: D

Q.4 Ueh ut® <Y St 3reT-oren ATt g21flt 7 &1 39 T o1 =g= &3 &t 9= 16 & fAuda weren
TR 3MgIf?
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Ans X A.15
X B.14
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X D.18

Question ID : 97675534610
Status : Marked For Review
Chosen Option: B

Q.5 af wicad nforT vorreft ‘@' a1 31ef SiteT, '$' bt 31ef 9T 27, '8 Rt 31ef TemT SR '#' ot 3ref
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Ans X A.35
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Question ID : 97675534603
Status : Answered
Chosen Option: C
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Question ID : 97675534605
Status : Answered
Chosen Option: A
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Question ID : 97675534592
Status : Answered
Chosen Option: C
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Question ID : 97675534600
Status : Answered
Chosen Option: B
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Ans X A9
* B.10

 C.8
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Question ID : 97675534609
Status : Answered
Chosen Option: C
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Ans  # A BCA
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Question ID : 97675534591
Status : Answered
Chosen Option : A
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Question ID : 97675534601
Status : Answered
Chosen Option : A

Q.12 I fAhey o1 T R, St IR 21eg @ It vepR @ Heifdha 8, 9 uahR & gERT 2res uget e @
Hafda g1

Maistfer : FEawary &R: sFens

Ans X A. HgrcHT mieh
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o C. dfchw 9 Tgiutear

< D. STATERele 6w

Question ID : 97675534595
Status : Answered
Chosen Option: C

Q.13 F=fafEa afieror @t 9 a9 & g 3o R 3t Sensi &t gh-geR @ geen ghm?
4%x32:8+5-19=50
Ans X A.53R4
X B.53k8
o C.431R8
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Question ID : 97675534602
Status : Answered
Chosen Option: C
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Question ID : 97675534607
Status : Answered
Chosen Option: B
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Question ID : 97675534599
Status : Answered
Chosen Option: A
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Ans X A.O
X B.L
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X D.N

Question ID : 97675534598
Status : Answered
Chosen Option: C

Q.17 39 frehea o1 Ta a3 St fiER S1eR-Tg 9 3t avg & el & & gu S1aR-99g ugd Siar-
g @ Hefda g1
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Ans X A LVH
2 B.NVJ
& C.NTH
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Question ID : 97675534596
Status : Answered
Chosen Option: C

Q.18 e fOrar &Y adar o1y 3o O Y 81 & IR AT 81 6 TS a1g Ieh! 311 a1 Ak 72 g | foar
&Y aefar oy (awi /) = §?

Ans X A 50
*x B.52
KX C.36
& D.48

Question ID : 97675534604
Status : Answered
Chosen Option: D
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Question ID : 97675534606
Status : Answered
Chosen Option: C

Q.20 fF=fafEe ar sier agl d | & srerR-ugg PAffa a8 & vh-gR @ T6fdq & ik g e
21 forww s1gR-wwg o1 T &R

Ans X A BCH-EFK
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Question ID : 97675534594
Status : Answered
Chosen Option: D

Section : General Hindi

Q.1 ‘O ST T8 ST 9’ 39 31 el Uehe h aTelT 2eg I AT 8?
Ans o A STET

7< B. 3mesr
X C. s
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Question ID : 97675534614
Status : Marked For Review
Chosen Option : A
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Question ID : 97675534618
Status : Answered
Chosen Option : A

Q.3 ‘Tder-uRem oreg i o1 I oref Rl T E?
Ans X A HrEe-Sd
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Question ID : 97675534615
Status : Marked For Review
Chosen Option : D
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Question ID : 97675534616
Status : Answered
Chosen Option: A
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Ans X A 918! 3T A g sree eiar fea!
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Question ID : 97675534617
Status : Marked For Review
Chosen Option : B

Q.6 ‘I o1 yafTaT= 2reg i @1 82
Ans X A S
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X D.gemgen

Question ID : 97675534612
Status : Marked For Review
Chosen Option: C
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Question ID : 97675534613
Status : Answered
Chosen Option: A
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Ans X A fhardes T
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Question ID : 97675534611
Status : Answered
Chosen Option : B
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Ans X A g IR
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Question ID : 97675534619
Status : Marked For Review
Chosen Option: B

Q.10 ‘3fehTeT H ST’ IUATH & TR i 8?2
Ans X A fEemfd

< B. TR Ay
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Question ID : 97675534620
Status : Answered
Chosen Option: D
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